. J . -v"'-,"* P - 1 J--l l'b
' = alatal =1 i
Ui QGIianc -' i

Mlleaa. Sl Al rate
< C »(ﬂ (o] JM“ ‘1'(\1 ‘Tu-’rL H ||1',_ an ': Ll

. “('.:- \'A A ) le--_g G
e e ] o b A ety TS A, T " ~

Y= 3190.10

| 9835, there were 285 cell phone subscribers in the small fown of Centerville: The number of st
o'l 7595 pefryeer after 1985, In what year were there 6,209 cell phone subscribers?

6200 285 (1 .5) t= \og 2\
2.8 = (1nS) \ogy LS

log 208 = £ leg1 15 r= 5.5 \ears

3. Bacteria can multiply at an alarming rate when each bacteria splits into two new cells, thus doubling. if we start with
only: one bacteria which can double every hour, how many bacteria will we have by the end of one day?
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4. Each year the local country club sponsors a tennis tfournament. Play starts with 128 participants. During each round, h i
of the players are eliminafed. How many players remain after 5 rounds?

\ = 123 (0.5)
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5. The population of Winnemucca, Nevada, can be modeled by P=6191(1.04)" where tis the number of years §ir
Whaf was the population in 19907 By what percent did the population increase by each year?
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6. You have inher ted land that was purchased for $30,000 in 1960. If the value of the land was \ct'm::-;,ﬁv-g} in 1975. by

rate did the vc ue‘inme@se by each year? e
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10¢ 6.1281= £ 16g 0.7

9. You deposit $1600 in a bank account. Find the rate of growth if $37,400 is in the account affer 20 years.
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;200 Zou buy a new computer for $2100. The computer decreases by 50% annually. When will the computer have a value of

BOO = 2000 (1~ 6:50) 2 10602857
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6-2851= (0.5) o S

by (6. 2657) = ©1%9 (> > £2 19
i 11. You drink a beverage with 120 mg of caffeine. Eoch hour, the caffeine in your system decreases by about 12%. How
I long until you have 10mg of c:offeme’i PR YE Vi
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12. The foundation of your house has about 1,200 termites. The termites grow at a rate of about 2.4% per dc
ﬂunﬁl the number of termites doubles? e
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